Y=bIV—F@ERE 4sprsBcET)

> RIERE

3ES

=)—vC Jpnll
4/4 HikE1600m (k)

S57ILLITVR(JRA)

5 3 7 YAV AS GII
ﬁgﬁsﬁﬁ%o{ﬂ“m 4714 JBHI1800m
LIV LZXY (JRA) LUy (JRA)

2 Lbita Jpnl
5/2 #if&1600m
IZRT—=ILYF—(JRA)

»&DE 73L& Jpnlll
5/4 %) 1400m )
T IULRXY (JRA) S GII

5/19]?%111900‘.11
S&7: 3 Jpnll YUIU—F+27 (JRA)
5/30 iii#l11400m
T IULRV(JRA)
ALiiEE 2 7Y ~ C Jpnlll

6/14 ["1511200m
ETUR/N\VE(JRA)

o

W EH Jpnl
6/27 K3£2000m

JILhI Uy (JRA)

AX—% 7V 54 —C Jpall
714 )11§1600m (4&)
AT 4—ILIYZ (JRA)

Tux%rS GII
718 I 5{1400m

rFv> 71 (JRA)

J~

<—%=2)—C Jpnlll
7/16 %&2000m
JEILDF—(JRA)

2924 —C Jpnll
8/14 %&F§1200m

ILEALITVR(JRA)

P=—F >V EF Y Jpnll
8/15 ##{1400m

TAI7 Nk (JRA)

TY—Z—AT—)VFC Jpnll
8/16 [%12000m
2EILD#F—(JRA)

J1 oo

T)VAS GII
8/25 JALIBE1700m

O—<v>YUITVR(JRA)

F—NNWATY
9/13 Hif11400m
=B R(JRA)

9/26 fifif51800m

YyUgU—+29 (JRA)

YRS GII
9/29 JBi#I2000m

FARA=—F21—(JRA)

Elﬂl/ﬁj%é}?@ JpnIlI
A 10/2 £:2100m
e =k EO7I—Z JRA)
ST=E—Fvr (W)
LI VTHAT VY 2—FR

10/4 KF1800m (t)

JILLITVR(JRA)

SANVF oV XYy T IR Jpnl
10/8 EEF§1600m

IZARI—=ILYF—(JRA)

11@’?"

A 11/5 11§

FF+ €497 Jpnll

5/3 FEIH1870m
F—=A=EAF/\V (JRA)

2=a—vS GII
6/3 JH%(1600m

AhO—/\vhk (JRA)

BIH A —22 Jpnll
6/13 )II2100m (F&)

7 ZHYU—T'IL (#a#8)

TNV E— X —E—]pnl
7/11 K3£2000m

NI /9727 —IV(JRA)

VN—FS GII
8/5 JHi%1800m

Ky 1—FILY I (JRA)

JBCAZY Y M pnlasoom | JBCVTAAZTY 97 600m) | JBCZ 7392 Jpnl 2100m)

Rord to
/JE’?« ZDOL—ADEB BIZIZIBCAQEEIEREN G2 5NET.




